v

\
I 1N

ha

Second  Input Information
Class
Lever mechanical advantage of a lever
effort arnt | meter
load arm 20cm et
levertvpe  second class
Result
mechanical advantage S
Third  Input Information
Class .
Lever mechanical advantage of a lever
effort arm 1 meter
load arm 20 cm :

lever type  second class
Result
mechanical advantage 0.2
/
A= g gzq5, | ¥
\mMM\\Mu A L
ar 7.5 2B
S - _ z = l2us
72 Apu28 [ Fo -

z 4 Z .
feclaT o
Equation
MA = 2
dy
kA  mechanical advantage
d, effort arm
d, load arm
- o - dn "
g ¥\
|
effort load
Equation
=4
MA = 2
MA  mechanical advantage
d, effort arm
da loadarm. . — "
2 Jeadam e
22— .
ey | “
q !
Q. & H7 LAY \
effort load
+0% = (3988 LB *Smb\




